T-Nut & Stud Kit AR a—
Part List 1'€',CO
Kit Number 20615 WORKHOLDING
Part Number Description Quantity
41001 STUD7/8X3 4 each
41003 STUD 7/8X 4 4 each
41005 STUD 7/8 X5 4 each
41007 STUD 7/8X 6 4 each
41009 STUD 7/8 X 7 4 each
41011 STUD7/8X 8 4 each
41508 COUPLING NUT 7/8-9 4 each
41608 FLANGE NUT UNC 7/8-9 4 each
41424 T-NUT 7/8 X 1-1/16 4 each
50101 T-SLOT CLEANER 1 each
WOODEN HOLDER 1 each



http://catalog.te-co.com/item/all-categories/driver-studs/41001?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/41003?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/41005?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/41007?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/41009?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/driver-studs/41011?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/coupling-extension-nuts/41508?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/flange-nuts/41608?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/t-slot-nuts-imperial/41424?&plpver=10&origin=keyword&filter=&by=prod
http://catalog.te-co.com/item/all-categories/t-slot-cleaner/50101?plpver=10&categid=100&prodid=1159&origin=keyword

